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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4750 -
—&— ECO
4500 -
4250 -
4000 -
3750

3500

3250 - Warning: col[-FVOEC ] is missing

34 36 38 40 42 44



Plot [['PHC:b—0’,

"FVIPH

ir—o’', 'PHl:g—0o']]

—@— PHI

Warning: col

[’ PHC' ,

"FVIPH' ]

is missing

32

34

36

40

42

44
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Trend plot forP3-7_0
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P3-7

BfE] | FEBRETC (F)) | ERE (EH/HK) | XK R
10:35 268 130.0 P {Ri%e10:35 Hzh (RAERESE)
=1+ 268.0 (13%) 130.0 3ZGHREC: 2080.0, PH: 6.0
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large discrepency for begining water status (82:279.0), set to 82 ml.
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